Applied Mathematical Sciences, Vol. 3, 2009, no. 1, 1-9

# Oscillation Criteria for a Class of Partial Difference Equations ${ }^{1}$ 

Y. N. Fang<br>Department of Mathematics, Nanchang Teachers College 330029, Nanchang, China<br>and<br>Department of Mathematics, East China Normal University<br>200062, Shanghai, China

X. B. Liu

Department of Mathematics, East China Normal University
200062, Shanghai, China
xbliu@ math.ecnu.edu.cn


#### Abstract

In this paper we consider the partial difference equation with continuous variables, Some sufficient conditions for all solutions of this equation to be oscillatory are obtained.


Mathematics Subject Classification: 39A10

Keywords: Oscillation; Partial difference equation; Continuous variables

## 1 Introduction

Partial difference equations arise in applications involving population dynamics with spatial migrations, chemical reactions (see [1,2]). Recently, the qualitative analysis of Partial difference equations has received much more attention (see [3]). In particular, the oscillation of partial difference equations with continuous variables has been investigated in some papers (see [4-8] and the references theirin). To further the qualitative analysis of Partial difference equations, in

[^0]this paper we shall consider the Partial difference equation with continuous variables
\[

$$
\begin{align*}
& d_{1} A(x+a, y+b)+d_{2} A(x+a, y)+d_{3} A(x, y+b)-d_{4} A(x, y) \\
& \quad+\sum_{i=1}^{n} p_{i}(x, y) A\left(x-\tau_{i}, y-\sigma_{i}\right)=0 \tag{1}
\end{align*}
$$
\]

Where $p_{i} \in C\left(R^{+} \times R^{+}, R^{+}\right), a, b, \tau_{i}$ and $\sigma_{i}$ are positive, $d_{1} \geq 0, d_{2}, d_{3} \geq d_{4}>0$.
By a solution of (1), we mean a continuous function $A(x, y)$ which satisfies (1) for $x \geq x_{0} \geq 0, y \geq y_{0} \geq 0$. A solution $A(x, y)$ of equations is said to be eventually positive if $A(x, y)>0$ for all large $x$ and $y$, and eventually negative if $A(x, y)<0$ for all large $x$ and $y$. It is said to be oscillatory if it is neither eventually positive nor eventually negative.

In this paper we will concern with the oscillation of the equations (1). Equation (1) has been investigated by $[8,9]$. Our purpose is to obtain new oscillation criteria for the oscillation of (1) by new techniques. Our studies are motivated by the work of [10]. Some new sufficient conditions for this equation to be oscillatory are derived, which is easier to be verified than that of [9], and our results certainly extend/implement the oscillation results in [9].

## 2 Main results

In what follows we will assume the following for $i=1,2, \ldots, n$ :
(1) $\quad \tau_{i}=k_{i} a+\theta_{i}, \quad \sigma_{i}=l_{i} b+\psi_{i}, \quad$ where $k_{i}, \quad l_{i}$ are nonnegative integers, $\theta_{i} \in[0, a), \quad \psi_{i} \in[0, b)$;
(2)
$Q_{i}(x, y)=\min \left\{p_{i}(z, w) \mid x \leq z \leq x+a, y \leq w \leq y+b, x \geq x_{0} \geq 0, y \geq y_{0} \geq 0\right\}$
and

$$
\liminf _{x, y \rightarrow \infty} Q_{i}(x, y)=q_{i} \geq 0, \quad i=1,2, \cdots, n
$$

(3) $\quad k_{0}=\min \left\{k_{i}\right\}, \quad l_{0}=\min \left\{l_{i}\right\}, \quad \eta_{i}=\min \left\{k_{i}, l_{i}\right\}, \quad i=1,2, \cdots, n$.

Similar to $[8,9]$, we have the following result:
Lemma 2.1 Let $A(x, y)$ be an eventually positive solution of equation (1). Set

$$
\omega(x, y)=\int_{x}^{x+a} \int_{y}^{y+a} A(u, v) \mathrm{d} u \mathrm{~d} v
$$

Then $\omega(x, y)$ is an eventually positive solution of the difference inequality

$$
\begin{align*}
& d_{1} \omega(x+a, y+b)+d_{2} \omega(x+a, y)+d_{3} \omega(x, y+b)-d_{4} \omega(x, y) \\
& \quad+\sum_{i=1}^{n} Q_{i}(x, y) \omega\left(x-k_{i} a, y-l_{i} b\right) \leq 0, \tag{3}
\end{align*}
$$

and $\frac{\partial \omega}{\partial x}<0, \frac{\partial \omega}{\partial y}<0$.
In view of lemma 2.1, we have, for all $x$ and $y$ sufficiently large

## Lemma 2.2

$$
\begin{array}{ll}
\omega(x+a, y+b)<\omega(x, y), & \omega(x+a, y)<\omega(x, y) \\
\omega(x, y+b)<\omega(x, y), & \omega(x, y)<\omega\left(x-k_{i} a, y-l_{i} b\right) .
\end{array}
$$

The followings are the main results of the paper
Theorem 2.2 Suppose that one of the following four conditions holds :
(i) $k_{0}>0, l_{0}>0$ :

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{1}+d_{2}+d_{3}}{d_{4}}\right)^{\eta_{i}} \frac{\left(\eta_{i}+1\right)^{\eta_{i}+1}}{\eta_{i}^{\eta_{i}}}>1 ; \tag{6}
\end{equation*}
$$

(ii) $k_{0}>0, l_{0}=0$ :

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{2}}{d_{4}}\right)^{k_{i}} \frac{\left(k_{i}+1\right)^{k_{i}+1}}{k_{i}^{k_{i}}}>1 ; \tag{7}
\end{equation*}
$$

(iii) $k_{0}=0, l_{0}>0$ :

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{3}}{d_{4}}\right)^{l_{i}} \frac{\left(l_{i}+1\right)^{l_{i}+1}}{l_{i}^{l_{i}}}>1 ; \tag{8}
\end{equation*}
$$

(iv) $k_{0}=0, l_{0}=0$ :

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}>1 \tag{9}
\end{equation*}
$$

then every solution of equation (1) is oscillatory.
Proof: Suppose, to the contrary, $A(x, y)$ is an eventually positive solution of (1). Let $\omega(x, y)$ be defined as in lemma 2.1. We consider the above four cases:

Case $1 k_{0}>0, l_{0}>0$ : By the monotonicity of $\omega(x, y)$ with respect to $x$, $y$ and Lemma 2.1, for sufficiently large $x$ and $y$, we obtain

$$
\begin{align*}
& \frac{\left(d_{1}+d_{2}+d_{3}\right) \omega(x+a, y+b)}{d_{4} \omega(x, y)}-1 \\
& <\frac{d_{1} \omega(x+a, y+b)+d_{2} \omega(x+a, y)+d_{3} \omega(x, y+b)}{d_{4} \omega(x, y)}-1 \\
& \leq-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \frac{\omega\left(x-k_{i} a, y-l_{i} b\right)}{\omega(x, y)}  \tag{10}\\
& \leq-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \frac{\omega\left(x-\eta_{i} a, y-\eta_{i} b\right)}{\omega(x, y)} \\
& =-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \frac{\omega\left(x-\eta_{i} a, y-\eta_{i} b\right)}{\omega\left(x-\eta_{i} a+a, y-\eta_{i} b+b\right)} \cdots \frac{\omega(x-a, y-b)}{\omega(x, y)} .
\end{align*}
$$

Define

$$
\begin{equation*}
S(x, y)=\frac{\omega(x, y)}{\omega(x+a, y+b)}, \tag{11}
\end{equation*}
$$

Notice that $\omega(x, y)$ is monotone decreasing and bounded, it is easy to see that $S(x, y)$ is bounded and also $S(x, y)>1$. Substituting (11) into (10), we get

$$
\begin{equation*}
\frac{d_{1}+d_{2}+d_{3}}{d_{4} S(x, y)}-1<-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \prod_{j=1}^{\eta_{i}} S(x-j a, y-j b) \tag{12}
\end{equation*}
$$

Denote that $\xi=\lim _{x, y \rightarrow \infty} \inf S(x, y)$, Obviously $\xi \in[1,+\infty)$. From (12) and the definition of $\xi$, we have

$$
\begin{equation*}
\frac{d_{1}+d_{2}+d_{3}}{d_{4} \xi}-1 \leq-\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i} \xi^{\eta_{i}} . \tag{13}
\end{equation*}
$$

which implies that

$$
\begin{equation*}
\xi>\frac{d_{1}+d_{2}+d_{3}}{d_{4}}, \quad \frac{\sum_{i=1}^{n} q_{i} \xi^{\eta_{i}+1}}{d_{4} \xi-\left(d_{1}+d_{2}+d_{3}\right)} \leq 1 \tag{14}
\end{equation*}
$$

Let

$$
\begin{equation*}
f(\xi)=\frac{\xi^{\eta_{i}+1}}{d_{4} \xi-\left(d_{1}+d_{2}+d_{3}\right)} \tag{15}
\end{equation*}
$$

Differentiate $f(\xi)$ with respect to $\xi$, we have

$$
f^{\prime}(\xi)=\frac{\xi^{\eta_{i}}\left[d_{4} \xi \eta_{i}-\left(\eta_{i}+1\right)\left(d_{1}+d_{2}+d_{3}\right)\right]}{\left[d_{4} \xi-\left(d_{1}+d_{2}+d_{3}\right)\right]^{2}}
$$

Let $f^{\prime}(\xi)=0$, we can get

$$
\xi=\frac{d_{1}+d_{2}+d_{3}}{d_{4}} \cdot \frac{\eta_{i}+1}{\eta_{i}}
$$

Since $\eta_{i} \geq 0$, then we have

$$
\begin{equation*}
\min \{f(\xi)\}=\frac{1}{d_{4}}\left(\frac{d_{1}+d_{2}+d_{3}}{d_{4}}\right)^{\eta_{i}} \frac{\left(\eta_{i}+1\right)^{\eta_{i}+1}}{\eta_{i}^{\eta_{i}}} \tag{16}
\end{equation*}
$$

In view of (14) and (16), we have

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{1}+d_{2}+d_{3}}{d_{4}}\right)^{\eta_{i}} \frac{\left(\eta_{i}+1\right)^{\eta_{i}+1}}{\eta_{i}^{\eta_{i}}} \leq 1 \tag{17}
\end{equation*}
$$

which is contrary to the assumption (i), hence every solution of (1) oscillates.

Case $2 k_{0}>0, \quad l_{0}=0$ : By the monotonicity of $\omega(x, y)$ and Lemma 2.1, we obtain

$$
\begin{align*}
& \frac{d_{2} \omega(x+a, y)}{d_{4} \omega(x, y)}-1 \\
& \leq \frac{d_{1} \omega(x+a, y+b)+d_{2} \omega(x+a, y)+d_{3} \omega(x, y+b)}{d_{4} \omega(x, y)}-1 \\
& \leq-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \frac{\omega\left(x-k_{i} a, y-\sigma_{i}\right)}{\omega(x, y)}  \tag{18}\\
& =-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \frac{\omega\left(x, y-\sigma_{i}\right)}{\omega(x, y)} \prod_{j=1}^{k_{i}} \frac{\omega\left(x-j a, y-\sigma_{i}\right)}{\omega\left(x-j a+a, y-\sigma_{i}\right)} \\
& <-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \prod_{j=1}^{k_{i}} \frac{\omega\left(x-j a, y-\sigma_{i}\right)}{\omega\left(x-j a+a, y-\sigma_{i}\right)}
\end{align*}
$$

Let

$$
\begin{equation*}
S(x, y)=\frac{\omega(x, y)}{\omega(x+a, y)} \tag{19}
\end{equation*}
$$

It is easy to see that $S(x, y)$ is bounded, in particular $S(x, y)>1$, thus

$$
\begin{equation*}
\frac{d_{2}}{d_{4} S(x, y)}-1<-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \prod_{j=1}^{k_{i}} S\left(x-j a, y-\sigma_{i}\right) \tag{20}
\end{equation*}
$$

Denote

$$
\begin{equation*}
\xi=\lim _{x, y \rightarrow \infty} \inf S(x, y), \quad \text { then } \quad \xi \in[1,+\infty) \tag{21}
\end{equation*}
$$

Now from (20) and (21), it follows that

$$
\begin{equation*}
\frac{d_{2}}{d_{4} \xi} \leq 1-\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i} \xi^{k_{i}} \tag{22}
\end{equation*}
$$

Obviously

$$
\begin{equation*}
\xi>\frac{d_{2}}{d_{4}}, \quad \frac{\sum_{i=1}^{n} q_{i} \xi^{k_{i}+1}}{d_{4} \xi-d_{2}} \leq 1 \tag{23}
\end{equation*}
$$

Let

$$
\begin{equation*}
f(\xi)=\frac{\xi^{k_{i}+1}}{d_{4} \xi-d_{2}} \tag{24}
\end{equation*}
$$

Similar to the case 1, we have

$$
\begin{equation*}
\min \{f(\xi)\}=\frac{1}{d_{4}}\left(\frac{d_{2}}{d_{4}}\right)^{k_{i}} \frac{\left(k_{i}+1\right)^{k_{i}+1}}{k_{i}^{k_{i}}} \tag{25}
\end{equation*}
$$

Substituting (25) into (23), it follows that

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{2}}{d_{4}}\right)^{k_{1}} \frac{\left(k_{i}+1\right)^{k_{i}+1}}{k_{i}^{k_{i}}} \leq 1 \tag{26}
\end{equation*}
$$

which is contrary to the assumption (ii) of theorem 2.2, hence every solution of equation (1) oscillates.

Case $3 k_{0}=0, l_{0}>0$, The proof is similar to that of $k_{0}>0, l_{0}=0$, and thus, is omitted.

Case $4 k_{0}=0, l_{0}=0$, Similarly, we have

$$
\begin{align*}
0 & <\frac{d_{1} \omega(x+a, y+b)+d_{2} \omega(x+a, y)+d_{3} \omega(x, y+b)}{d_{4} \omega(x, y)}  \tag{27}\\
& \leq 1-\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \frac{\omega\left(x-\tau_{i}, y-\sigma_{i}\right)}{\omega(x, y)},
\end{align*}
$$

Due to

$$
\begin{equation*}
\frac{\omega\left(x-\tau_{i}, y-\sigma_{i}\right)}{\omega(x, y)}>1 \tag{28}
\end{equation*}
$$

we have

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} Q_{i}(x, y) \leq 1 \tag{29}
\end{equation*}
$$

Which implies that

$$
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i} \leq 1
$$

This contradicts the assumption (iv), so every solution of the equation (1) oscillates. The proof is complete.

## 3 Example

To illustrate the applications of Theorem 2.1, we consider the following two examples

Example 1 Consider the partial difference equation

$$
\begin{align*}
& A(x+2 \pi, y+2 \pi)+A(x+2 \pi, y)+A(x, y+2 \pi)-A(x, y)  \tag{30}\\
& \quad+p(x, y) A(x-\pi, y-3 \pi)=0
\end{align*}
$$

Where $p(x, y)=\frac{7}{2}+\sin x+\sin y$. From the equation (30), we have

$$
\begin{gather*}
u=1, k=0, l=1, d_{1}=d_{2}=d_{3}=d_{4}=1 \\
q=\min _{\substack{ \\
x \leq z \leq x+2 \pi \\
y \leq w \leq y+2 \pi}} p(z, w)=\frac{3}{2} . \tag{31}
\end{gather*}
$$

Then

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{3}}{d_{4}}\right)^{l_{i}} \frac{\left(l_{i}+1\right)^{l_{i}+1}}{l_{i}^{l_{i}}}=\frac{1}{1} \cdot \frac{3}{2} \cdot 1^{1} \cdot \frac{(1+1)^{1+1}}{1^{1}}=6>1 \tag{32}
\end{equation*}
$$

According to the assumption (i) of Theorem 2.1, every solution of (30) oscillates.

If we apply the Cor2.2 of [9], first we must calculate the parameter $e^{\lambda^{*}}$ which should satisfy

$$
\begin{equation*}
d_{4}\left(1-e^{\lambda^{*}}\right)=\sum_{i=1}^{n} q_{i} e^{-\left(k_{i}+l_{i}\right) \lambda^{*}}\left(\frac{d_{2}}{d_{4}}\right)^{k_{i}}\left(\frac{d_{3}}{d_{4}}\right)^{l_{i}} . \tag{33}
\end{equation*}
$$

From (31), we have

$$
\begin{equation*}
e^{\lambda^{*}}=1-\frac{3}{2} e^{\lambda^{*}} \tag{34}
\end{equation*}
$$

but from [9] we find that in order to get (34), the following condition is necessary

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{2}}{d_{4}}\right)^{k_{i}}\left(\frac{d_{3}}{d_{4}}\right)^{l_{i}}<1 \tag{35}
\end{equation*}
$$

Substituting (31) into the left side of (35), we have

$$
\frac{1}{1} \cdot \frac{3}{2} \cdot\left(\frac{1}{1}\right)^{0} \cdot\left(\frac{1}{1}\right)^{1}=\frac{3}{2}>1
$$

Obviously the condition (35) does not hold, So we can not use cor2.2 of [9] to discuss the oscillation of equation (30). Hence the theorem 2.1 provides a complement for that of paper[9].

Example 2 Consider the partial difference equation:

$$
\begin{align*}
& A(x+2 \pi, y+2 \pi)+A(x+2 \pi, y)+A(x, y+2 \pi)-A(x, y)  \tag{36}\\
& \quad+p_{1}(x, y) A(x-\pi, y-3 \pi)+p_{2}(x, y) A(x-3 \pi, y-5 \pi)=0
\end{align*}
$$

Where $p_{1}(x, y)=\frac{11}{5}+\sin x+\sin y, p_{2}(x, y)=\frac{5}{2}+\sin x-\sin y$. It is easy to see:

$$
\begin{gather*}
n=2, k_{1}=0, l_{1}=1, k_{2}=1, l_{2}=1, \quad d_{1}=d_{2}=d_{3}=d_{4}=1, \\
q_{1}=\min \\
x \leq z \leq x+2 \pi \quad p_{1}(z, w)=\frac{1}{5}  \tag{37}\\
\\
y \leq w \leq y+2 \pi \\
q_{2}=\min \\
x \leq z \leq x+2 \pi \quad p_{2}(z, w)=\frac{1}{2} \\
\\
y \leq w \leq y+2 \pi
\end{gather*}
$$

By calculating, the equation (36) satisfies the assumption (iii) of theorem 2.1:

$$
\begin{equation*}
\frac{1}{d_{4}} \sum_{i=1}^{n} q_{i}\left(\frac{d_{3}}{d_{4}}\right)^{l_{i}} \frac{\left(l_{i}+1\right)^{l_{i}+1}}{l_{i}^{l_{i}}}=\frac{1}{1} \cdot \frac{1}{5} \cdot\left(\frac{1}{1}\right)^{1} \cdot \frac{(1+1)^{1+1}}{1^{1}}+\frac{1}{1} \cdot \frac{1}{2} \cdot \frac{(2+1)^{2+1}}{2^{2}}=\frac{77}{40}>1 \tag{38}
\end{equation*}
$$

Thus the solution of (36) oscillates.

Now we use the oscillation criteria of paper [7] to discuss the oscillation of (36), From [7], we know that if

$$
\begin{equation*}
\frac{\left(1-e^{\lambda^{*}}\right) e^{\lambda^{*}}\left(\frac{d_{1} d_{4}}{d_{2} d_{3}} e^{\lambda^{*}}+2\right)}{1-\left(1-e^{\lambda^{*}}\right) e^{\lambda^{*}}\left(\frac{d_{1} d_{4}}{d_{2} d_{3}} e^{\lambda^{*}}+2\right)}+\left(1-e^{\lambda^{*}}\right)>1 \tag{39}
\end{equation*}
$$

Where $e^{\lambda^{*}}$ satisfies (33), then every solution of (1) oscillates.
But in view of (33), we have

$$
1-e^{\lambda^{*}}=\frac{1}{5} \cdot e^{-\lambda^{*}}+\frac{1}{2} \cdot e^{-3 \lambda^{*}}
$$

Then

$$
\begin{equation*}
10 e^{4 \lambda^{*}}-10 e^{3 \lambda^{*}}+2 e^{2 \lambda^{*}}+5=0 \tag{40}
\end{equation*}
$$

It is a higher-order equation about $e^{\lambda^{*}}$, So it is difficult to use condition (39) to discuss the oscillation of (36). Obviously theorem 2.1 of this paper is easier to be verified than that of paper $[7]$.

## References

[1] X.P.Li, Partial difference equations used in the study of molecular orbits, Acta chimica sinica, 40 (1982), 688-698.
[2] J.C.Strikwerda, Finite difference schemes and partial difference equations, Wadsworth, Belmont, CA, 1989.
[3] B.G.Zhang, R.P.Agarwal,The oscillation and stability of delay partial difference equation, Comput, Math.Appl.45(2003), 1253-1295
[4]B.G.Zhang, B.M.Liu, Necessary and sufficient conditions of partial difference equations with continuous variables, Comput,Math.Appl.38(5-6) (1999), 163-167.
[5] S.K.Choi, N.J.Koo,B.G.Zhang, The oscillation of partial difference equations with continuous arguments, Comput, Math.Appl. 41(12) (2001), 1295-1503.
[6]B. G.Zhang, Y.Zhou, Nonexistence of monotone solutions of neutral partial difference equations. Dynam. Systems Appl. 14 (2) (2005), 225-243.
[7]Ch. G. Philos,I.K.Purnaras, I.P.Stavroulakis, Sufficient conditions for the oscillation of delay difference equations. J. Difference Equ. Appl. 10(4)(2004), 419-435.
[8] R.P.Agarwal,Y.Zhou,Oscillation of partial difference equations with continuous variables,Math.Comput. Modelling 31(2-3)(2000), 17-29.
[9] B.G.Zhang, Y.H.Wang, Oscillation theorems for certain delay partial difference equations, Applied Mathematics Letters 19(2006), 639-646.
[10] Y.L.Yuan, Qualitative analysis for kinds of partial difference equations, Master's thesis, Yanshan university, 2005.

Received: April 7, 2008


[^0]:    ${ }^{1}$ This work is supported by NNSFC (No 10671069) and Shanghai Leading Academic Discipline Project(No B407).

